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229 277,062 271,033
1. AR A A o] 1 =) 5,594 5,594
1. 0 A 2T 5,594 5,594
1.7 2 AR AAGAD D = 5,594 5,594
1 sk &3 & A A T (7] %) 5,594 5,594
vl 10830 4 7] Tho] A9l 267,813 261,784
1. WHH EHE A A YT 267,813 261,784
1. ASH EY 3] A = 267,813 261,784
1.8 e gdn AU+ 154,753 153,304 Z5stu 7S 1,449,0009 = 17)aL = 1,449,000
A x 3=)EsHAEAdn]
2. 530 A= 113,060| 108,480 (BHAIF)EATZYH + 2,000,004 = 2,000,000
R =
(ARA 3F) 2= EH0A 7H21] 1 940,000 940,000
« 173l =
] =) % Au 3] X-7)kH]
( O%@_S‘I")ﬂ JEEHQ Z\':l7]' ] 40,000
40,0009 = 17
(A HA_35)l JHLF 1 600,000 600,000
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CEERESES AR BARA] -G 1,000,000
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Elo] A 4=4] 3,655 3,655
1. 71ebg-3ol 4 3,655 3,655
LT TALF 3,655 3,655
1749w 3,655 3,655
9] 21,565 20,327
LERERC RS TN 20,626 19,726
1.5=01 A5 k2= q) 20,626 19,726
1.3 14,816 13,916
1,521 13,917 13,017 WADFAH (529 AF) 1+ 900,000 %14 = 900,000
PRCIC R DA 899 899
2. ERBE LYY 5,810 5,810
1.558%s 9V 5,810 5,810
ABEI=Q) 939 601
1.71 e84 &5 45) 939 601

20239 1149 27 124 31 42%




oAb ¢ F733] (chel 1)

101444 800 500 300

1ozl 800 500 300 | ©]2H9) 1 300,000 %14]= 300,000
2.71El A &5 49 139 101 38

L.71E a8 25573 139 101 38| A&7 E EQ1E 38,0009 %12 = 38,000
3.7184: 1,127 1,127 0
1. AdEeldF 1,127 1,127 0
1.AAY A 1,127 1,127 0
LaAAYGdF 1,127 1,127 0
1.eAAY o= 1,127 1,127 0
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